
Absolute form sOs = horse rb2D@ = word

Construct form sOs = horse of rb1D% = word of

singular 1 common ys3Os = my horse yr#b2D% = my word

2 masculine |s5Os = your horse |r%buD% = your word

2 feminine \s4Os = your horse \r$b2D% = your word

3 masculine WsOs = his horse Wrb2D% = his word

3 feminine Hs2Os = her horse Hr@b2D% = her word

plural 1 common Ons4iOs = our horse Onri4b2D% = our word

2 masculine .k6s5Os = your horse .k6r%b1D% = your word

2 feminine ,k6s5Os = your horse ,k6r%b1D% = your word

3 masculine .s2Os = their horse .r@b2D% = their word

3 feminine ,s2Os = thier horse ,r@b2D% = thier word
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Absolute 
form sOs = 

horse
sOs sOs sOs sOs sOs sOs sOs sOs

Construct 
form sOs = of sOs sOs sOs sOs sOs sOs sOs sOs

singular 1cs ys3Os = my sOs sOs sOs sOs sOs sOs sOs sOs

2ms |s5Os = your sOs sOs sOs sOs sOs sOs sOs sOs

2fs \s4Os = your sOs sOs sOs sOs sOs sOs sOs sOs

3ms WsOs = his sOs sOs sOs sOs sOs sOs sOs sOs

3fs Hs2Os = her sOs sOs sOs sOs sOs sOs sOs sOs

plural 1cs Ons4iOs = our sOs sOs sOs sOs sOs sOs sOs sOs

2ms .k6s5Os = your sOs sOs sOs sOs sOs sOs sOs sOs

2fs ,k6s5Os = your sOs sOs sOs sOs sOs sOs sOs sOs

3ms .s2Os = their sOs sOs sOs sOs sOs sOs sOs sOs

3fs ,s2Os = their sOs sOs sOs sOs sOs sOs sOs sOs
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Type 1 Type 1 Type 2

1cs y  3 yn3 y  1 my/me

2ms | |y 6i your/you

2fs \ \y# !i your/you

3ms W Oh wy @ his (its)/him(it)

3fs H 2 h2 h2y 6i Her (its)/her (it)

1cp On Ony i4 our/us

2mp .k6 .k6y 4 your/you

2fp ,k6 ,k6y 4 your/you

3mp .h6 . 2 .h6y 4 their/them

3fp ,h6 , 2 ,h6y 4 their/them
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